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| x—4|-3|]=-2a




Mpumep 1. (sin 4x — sin 2x + cos 3x + 2sin x — 1) : (2sin 2x - 4/3) =
0
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Mpumep 2. /1 —gin 2x = +/2 cos2x




KoMImiekcHBIE UHucia

ApndmMeTnyeckme onepaunm Hag KOMMIEKCHbIMU Ynucnamm
(a+bi)+(c+di)=(@+c)+(b+di
(@a+bi)-(c+di)=(a-c)+(b-di

(a + bi)-(c + di) = (ac - bd) + (ad + bc)i

a+bi_(a+bi)(c—di)_ac+bd+bc—adi
c+di (c+di)c=di) c*+d° ¢ +d’
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3/10 — oTHOoCUTEeNkHaA HACTOTa Cry4YanHoro cob6




dngagepeHumnpoBaHve

CJTOXHbIX (ObYHKLUUN
I y=(*+2)% 2. y=4/1+5x%
3. y=e* 3 4. y=In (2x3—4x?);
5. y=I1g (2x*—4x?); 6. y=5"""%
7. y=log,.(8x2—2x3):
8. y=cos (2x—1); 9. y=cos? 3x;

10. y=4/tg x; 1l. y=xtg? x;
12. y=sin4/ax; 13. y=In sin x;
[

14. y=3*; 15, y= —1

cos 2x°

16. Jlokaxute, uTO (PYHKUHA y=

=c4/1+x* cayxut pewenueM nudde-
peHUHaJIbHOro ypasHeHusi Yy =xy/ (1l +

+x?).




